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1. 105cm Holmes ふ  

ふ    r(AU)  (AU) ┞み ( ) 

2007.10.27 B, V, R 2.45 1.63 16.2 

2007.10.29 V 2.46 1.63 15.7 

2007.10.30 U, B, V, R, I 2.46 1.62 15.4 

2007.11.03 V, R, I 2.48 1.62 14.4 

2007.11.07 R, I 2.49 1.62 13.5 

2007.11.11 R, I 2.51 1.62 12.7 

2007.11.13 B, R, I 2.52 1.63 12.3 

2007.11.18 R 2.54 1.64 11.6 

2007.11.22 B, R 2.55 1.65 11.3 

2007.12.01 B, R 2.59 1.69 11.4 

2007.12.13 R 2.64 1.78 12.8 

2007.12.16 R 2.65 1.81 13.4 

2008.01.07 R 2.74 2.06 17.1 

2008.02.07 R 2.88 2.54 19.7 

2008.02.28 R 2.97 2.90 19.4 

 



3.  
1 Holmes ( A)

( B) ぜ

A
B

B
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5 arcmin. 
1 degree 

(a) 2007 Oct. 30 (b) 2007 Nov. 11 

(c) 2007 Nov. 22 
(d) 2008 Feb. 7 
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Dej 10 23.6 —25.6  (0.4 ) 
 0 —180 (2.5 ) 
 0 —360 (2.5 ) 

V 0—0.7 km/s (0.01 km/s ) 
 0—0.9 (0.1 ) 
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0.1 0.5 よ 0.2-0.3 よ

V 3 =180 よ

( <90 )

よ ~180 よ 0.1-0.5km/s
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Dej=23.6 
β=0.3 

Dej=24.0 
β=0.3 

Dej=24.4 
β=0.2 

Dej=24.8 
β=0.2 

Dej=25.2 
β=0.2 

Dej=25.6 
β=0.2 
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